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T2 c-2 c-2-1 c-0 B-0-1 X-1
7 15 7 15 7 15 7 15 7 15
7:45 7:35 7:32 / 7:15 7:20
Cs-134 2 ND(1.0) ND(18) ND(1.8) ND(16) Cs-134 2 ND(19)
Cs-137 30 ND(1.2) ND(26) ND(1.7) / ND(23) Cs-137 30 26
B ND(19) 15 ND(14) ND(14) B 30
330 T-2
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Cs-134 2 35 11/9 45 9/26 ND CHKBS AT |
Cs-137 30 81 9/1511/9 130 9/26 ND | IS LG ER T BEEKES BSRREE . | ITTH B R QLTS
B ND 2,500 10/24 20 <7/14>
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Cs-134 2 20 <2/15> 110 <5/1> 450 10/4 T
Cs-137 30 51 <2/15> 280 <5/1> 990 10/4
B 120 <2/15> 380 972 15,000 10/2

25

26

| wGeoEyelBRRA—Z1 A—I VT
BEE—RFOIRBN(20133IB126RE)




